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Statements :

All P are R.
Only a few P is “F.
No F are L.

Conclusions :

I.  Some R are not F.
II. All P being L is not a possibility.

01. If only conclusion I follows. 
02. If only conclusion II follows.
03. If either conclusion I or II follows. 
04. If neither conclusion I nor II follows.
05. If both conclusions I and II follow.



Previous Year Paper
Statements :

Some P are R.
All R are S.
No S are T.

Conclusions :

I. Some R being not T is a possibility.
II. All T being P is not a possibility.

01. If only conclusion I follows. 
02. If only conclusion II follows.
03. If either conclusion I or II follows. 
04. If neither conclusion I nor II follows.
05. If both conclusions I and II follow.
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Statements :

Some G are R.
No R are P.
All P are B.

Conclusions :

I. All B can be R.
II. Some G are not P.

01. If only conclusion I follows. 
02. If only conclusion II follows.
03. If either conclusion I or II follows. 
04. If neither conclusion I nor II follows.
05. If both conclusions I and II follow.
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Statements :

Some A are Z.
Only a few Z are P.
No P are B.

Conclusions :

I. If All Z are A then some A are not P.
II. Some Z are not B.

01. If only conclusion I follows. 
02. If only conclusion II follows.
03. If either conclusion I or II follows. 
04. If neither conclusion I nor II follows.
05. If both conclusions I and II follow.
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K  !  U  %  @  F  R  N  9  Y  $  O  X  6  #  3  +  A  1  C  Z  8  &  7  4  M  (  /  H 

Which of the following element is 7th to the 
left of the element which is 5th from the 
right end?
निम्ननिखित में से कौि सा तत्व उस तत्व के बाएं से
7वां है जो दाएं छोर से 5वां है?

1) +
2) Z
3) A
4) #
5) None of these 
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K  !  U  %  @  F  R  N  9  Y  $  O  X  6  #  3  +  A  1  C  Z  8  &  7  4  M  (  /  H 

How many such symbols are there in the 
above arrangement each of which is 
immediately followed by a symbol and 
immediately preceded by an alphabet?
उपरोक्तव्यवस्था में ऐसे नकतिे प्रतीक हैं नजिके
ठीक बाद एक प्रतीक है और नजिके ठीक पहिे एक
अक्षर हैं?

1) Three  
2) One  
3) None  
4) Two  
5) More than three 
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K  !  U  %  @  F  R  N  9  Y  $  O  X  6  #  3  +  A  1  C  Z  8  &  7  4  M  (  /  H 

If we eliminate all alphabets from this series 
then, which of the following element is 4th 
to the left of +?
यनद हम इस श्रंििा से सभी वर्णमािा की अक्षरो ं को
हटा देते हैं, तो निम्न में से कौि सा तत्व + के बाएं
चौथा है?

1) $
2) 6
3) 9
4) @
5) None of these
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Statements: 

J > D > A ≥ S; C > X ≤ F ≤ S
Conclusions:

I. D ≥ X
II. C > A

1) Only II is True  
2) Neither I nor II is True  
3) Both I and II are True  
4) Either I or II is True  
5) Only I is True
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Statements: 

V ≥ D ≥ F; E < S ≤ W; F > K = W
Conclusions:

I. F > S
II. E ≤ V

1) Only II is True  
2) Neither I nor II is True  
3) Both I and II are True  
4) Either I or II is True  
5) Only I is True
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Direction: In which of the following 
expression will the expressions ‘K ≤ N’ as 
well as ‘T > K’ be definitely true?
निदेश: निम्ननिखित में से कौि से वं्यजक में, वं्यजक
‘K ≤ N’ और साथ ही ‘T > K’ निनित रूप से सत्य
होगा?

1) T > R < G > K = L ≤ N > S
2) T > R = G > K < L ≤ N > S
3) T < R = G > K = L ≤ N > S
4) T > R = G > K = L ≤ N > S
5) T > R = G > K > L ≤ N > S
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Each of the six friends, K, J, I, H, G and F scored 
different marks in an examination. I scored more 
than only K and G. H scored less than only J. G did 
not score the least. The one who scored the third 
highest marks scored 92 marks and G scored 58 
marks. The person who scored the maximum marks 
among them scored 13 marks more than F’s marks.
छह दोस्ो,ं K, J, I, H, G और F में से प्रते्यक िे एक परीक्षा में
अिग-अिग अंक प्राप्त नकए। मैंिे केवि K और G से अनिक
स्कोर नकया। H िे केवि J से कमस्कोर नकया। G िे सबसे
कमस्कोर िही ं नकया। तीसरा उच्चतम अंक प्राप्त करिे वािे
िे 92 अंक प्राप्त नकएऔर G िे 58 अंक प्राप्त नकए। उिमें से
सबसे अनिक अंक प्राप्त करिे वािे व्यखक्त िे F के अंको ं से 13
अंक अनिक प्राप्त नकए।
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Each of the six friends, K, J, I, H, G and F scored 
different marks in an examination. I scored more 
than only K and G. H scored less than only J. G did 
not score the least. The one who scored the third 
highest marks scored 92 marks and G scored 58 
marks. The person who scored the maximum marks 
among them scored 13 marks more than F’s marks.
Which of the following could be the possible score 
of H?
01. 96 
02. 86
03. 89 
04. 110
05. 91



Previous Year Paper
Each of the six friends, K, J, I, H, G and F scored 
different marks in an examination. I scored more 
than only K and G. H scored less than only J. G did 
not score the least. The one who scored the third 
highest marks scored 92 marks and G scored 58 
marks. The person who scored the maximum marks 
among them scored 13 marks more than F’s marks.
Which of the following is true with respect to the 
given information?
01. H’s score is definitely less than 70.
02. K scored the maximum marks.
03. Only one person scored more than I.
04. There is a possibility that J scored 79 marks.
05. None of true.



Previous Year Paper
Each of the six friends, K, J, I, H, G and F scored 
different marks in an examination. I scored more 
than only K and G. H scored less than only J. G did 
not score the least. The one who scored the third 
highest marks scored 92 marks and G scored 58 
marks. The person who scored the maximum marks 
among them scored 13 marks more than F’s marks.
Which of the following could possibly be the score 
of I?
01. 95 
02. 94
03. 86 
04. 51
05. 55



Previous Year Paper
Each of the six friends, K, J, I, H, G and F scored 
different marks in an examination. I scored more 
than only K and G. H scored less than only J. G did 
not score the least. The one who scored the third 
highest marks scored 92 marks and G scored 58 
marks. The person who scored the maximum marks 
among them scored 13 marks more than F’s marks.
Which of the following could possibly be the score 
of I?
01. 95 
02. 94
03. 86 
04. 51
05. 55



Previous Year Paper
Some people are sitting in a row and facing towards 
North. Z is second to the left of F. R is immediate to 
the right of G. There are only three people between 
G and F. D and K are not the neighbours of G. F who 
is fourth from one of the ends. R is second to the 
right of L. There is more than two people between Z 
and R. A is third to the left of F.
कुछ िोग एक पंखक्त में बैठे हैं और उत्तर की ओर उनु्मि हैं।
Z, F के बायें से दूसरे स्थाि पर है। R, G के ठीक दायें है। G 
और F के बीच केवि तीि व्यखक्त हैं। D और K, G के पडोसी
िही ं हैं। F, जो नकसी एक छोर से चौथा है। R, L के दायें से
दूसरे स्थाि पर है। Z और R के मध्य दो से अनिक व्यखक्त हैं।
A, F के बायें से तीसरे स्थाि पर है।



Previous Year Paper
Some people are sitting in a row and facing towards 
North. Z is second to the left of F. R is immediate to 
the right of G. There are only three people between 
G and F. D and K are not the neighbours of G. F who 
is fourth from one of the ends. R is second to the 
right of L. There is more than two people between Z 
and R. A is third to the left of F.
How many total people in a row?
01. Ten 
02. Eleven
03. Twelve 
04. Eight
05. Nine
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Some people are sitting in a row and facing towards 
North. Z is second to the left of F. R is immediate to 
the right of G. There are only three people between 
G and F. D and K are not the neighbours of G. F who 
is fourth from one of the ends. R is second to the 
right of L. There is more than two people between Z 
and R. A is third to the left of F.
If S is immediate to the right of F then what is his 
position with respect to G?
01. Second to the left 
02. Third to the right
03. Third to the left 
04. Fourth to the left
05. Sixth to the left



Previous Year Paper
Some people are sitting in a row and facing towards 
North. Z is second to the left of F. R is immediate to 
the right of G. There are only three people between 
G and F. D and K are not the neighbours of G. F who 
is fourth from one of the ends. R is second to the 
right of L. There is more than two people between Z 
and R. A is third to the left of F.
How many people sit between G and Z?
01. Seven 
02. Five
03. Four 
04. Six
05. Three
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Some people are sitting in a row and facing towards 
North. Z is second to the left of F. R is immediate to 
the right of G. There are only three people between 
G and F. D and K are not the neighbours of G. F who 
is fourth from one of the ends. R is second to the 
right of L. There is more than two people between Z 
and R. A is third to the left of F.
Who sits at the extreme right end?
01. R 
02. F
03. G 
04. Z
05. D
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Some people are sitting in a row and facing towards 
North. Z is second to the left of F. R is immediate to 
the right of G. There are only three people between 
G and F. D and K are not the neighbours of G. F who 
is fourth from one of the ends. R is second to the 
right of L. There is more than two people between Z 
and R. A is third to the left of F.
If D is between F and Z then what is his position in 
respect of Z?
01. Third to the left 
02. Fourth to the left
03. Cannot be determined 
04. Second to the left
05. Immediate to the right
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Seven persons, A, Y, U, N, O, R and W are 
sitting at some distance from each other. A 
is sitting 3m east to Y, who is sitting 5m 
north to U, who is sitting middle of N and O. 
W is sitting 4m east to R, who is sitting 3m 
south to O, who is sitting 8m east to N.

सात व्यखक्त, A, Y, U, N, O, R और W एक दूसरे से
कुछ दूरी पर बैठे हैं। A, Y से 3 मी पूवण में बैठा है, जो
U से 5 मी उत्तर की ओर बैठा है, जो N और O के
बीच में बैठा है। W, R से 4 मी पूवण में बैठा है, जो O से
3 मी दनक्षर् में बैठा है, जो N से 8 मी पूवण में बैठा है।



Previous Year Paper
Seven persons, A, Y, U, N, O, R and W are 
sitting at some distance from each other. A 
is sitting 3m east to Y, who is sitting 5m 
north to U, who is sitting middle of N and O. 
W is sitting 4m east to R, who is sitting 3m 
south to O, who is sitting 8m east to N.

What is the distance between N and U?
N और U के बीच की दूरी क्या है?

1) 4 m  /  4 मी
2) 7 m  /  7 मी
3) 8 m  /  8 मी
4) 5 m  /  5 मी
5) 2 m  /  2 मी
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Seven persons, A, Y, U, N, O, R and W are 
sitting at some distance from each other. A 
is sitting 3m east to Y, who is sitting 5m 
north to U, who is sitting middle of N and O. 
W is sitting 4m east to R, who is sitting 3m 
south to O, who is sitting 8m east to N.
What is the direction of N with respect to 
W?
W के संबंि में N की नदशा क्या है?

1) North East  /  उत्तर पूवण
2) North West  /  उत्तर-पनिम
3) South East  /  दनक्षर्-पूवण
4) South West  /  दनक्षर्-पनिम
5) North  /  उत्तर
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If 2 is subtracted from each odd digit in the 
number 84956327 and 1 is added to each 
even digit in number then which of the 
following digit is repeated in the new 
number so obtained?
यनद संख्या 84956327 के प्रते्यक नवषम अंक से 2
घटाया जाता है और प्रते्यक सम अंक में 1 जोडा जाता
है तो प्राप्त िई संख्या में निम्ननिखित में से कौि सा
अंक दोहराया गया है?

1) 9, 7
2) 5, 7
3) 7, 3
4) 1, 5
5) Both 2) and 3)  /  दोिो ं 2) और 3)
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There are eight boxes, P, Y, K, E, R, Q, L, and Z 
placed one above the other not necessarily in the 
same order. The lowermost box is numbered 1 and 
the box above it is numbered 2 and so on. Box Q is 
placed at an odd numbered position above the box 
3. Box K is neither placed near Q and Z nor placed 
at the top and bottom. Box Y is placed at odd 
numbered position. Q is placed above Z and there 
is only one box placed between them. Box L is not 
placed at the top but placed above box numbered 4. 
Two boxes are placed between Box L and Box P. 
Box L is placed below Box Q. Box R is not placed at 
the Top.
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आठ बके्स P, Y, K, E, R, Q, L, और Z एक के ऊपर रिे हैं
िेनकि जरुरी िही ं नक इसी क्रम में। सबसे निचिे बॉक्स की
संख्या 1 है और इसके ऊपर के बॉक्स की संख्या 2 और इसी
प्रकार आगे तक इिकी संख्याएँ हैं।
बॉक्स Q को बॉक्स 3 के ऊपर एक नवषम संख्या वािी खस्थनत
में रिा है। बॉक्स K को ि तो Q और Z के पास रिा जाता है
और ि ही सबसे ऊपर और सबसे िीचे रिा जाता है। बॉक्स Y 
को नवषम संख्या वािी खस्थनत में रिा जाता है। Q को Z से
ऊपर रिा गया है और उिके बीच केवि एक बॉक्स रिा गया
है। बॉक्स L को शीषण पर िही ं रिा गया है िेनकि बॉक्स संख्या
4 के ऊपर रिा गया है। बॉक्स L और बॉक्स P के बीच दो
बॉक्स रिे गए हैं। बॉक्स L को बॉक्स Q के िीचे रिा गया है।
बॉक्स R को शीषण पर िही ं रिा गया है।
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Box Q is placed at an odd numbered position above 
the box 3. Box K is neither placed near Q and Z nor 
placed at the top and bottom. Box Y is placed at 
odd numbered position. Q is placed above Z and 
there is only one box placed between them. Box L 
is not placed at the top but placed above box 
numbered 4. Two boxes are placed between Box L 
and Box P. Box L is placed below Box Q. Box R is 
not placed at the Top.
Which box is placed at the top?

1) Y
2) L
3) E
4) K
5) None of the above
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Box Q is placed at an odd numbered position above 
the box 3. Box K is neither placed near Q and Z nor 
placed at the top and bottom. Box Y is placed at 
odd numbered position. Q is placed above Z and 
there is only one box placed between them. Box L 
is not placed at the top but placed above box 
numbered 4. Two boxes are placed between Box L 
and Box P. Box L is placed below Box Q. Box R is 
not placed at the Top.
Which of the following statement is true?
1) Box R is placed just above E  
2) Box Z is placed at position 6  
3) Two Boxes are placed between Box R and Box Y.  
4) No box is placed between Box E and Box L.  
5) None of them is true 
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Box Q is placed at an odd numbered position above 
the box 3. Box K is neither placed near Q and Z nor 
placed at the top and bottom. Box Y is placed at 
odd numbered position. Q is placed above Z and 
there is only one box placed between them. Box L 
is not placed at the top but placed above box 
numbered 4. Two boxes are placed between Box L 
and Box P. Box L is placed below Box Q. Box R is 
not placed at the Top.
Which of the following box is placed immediately 
above Box R?

1) L
2) Z
3) E
4) K
5) Y
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Box Q is placed at an odd numbered position above 
the box 3. Box K is neither placed near Q and Z nor 
placed at the top and bottom. Box Y is placed at 
odd numbered position. Q is placed above Z and 
there is only one box placed between them. Box L 
is not placed at the top but placed above box 
numbered 4. Two boxes are placed between Box L 
and Box P. Box L is placed below Box Q. Box R is 
not placed at the Top.
How many boxes are placed between Box Y and 
Box Z?

1) 0
2) 2
3) 1
4) 3
5) None of the above 
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